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405 XHo&HF SHI 48,500 79,500 A 31,000
01 JHMY =2 ZF S HI 48,500 79,500 A31,000
Oftdt & 2EFS 48,500
— EgH 222 M4 3,000,000& =15CH 45,000
— 0l =D 500, 000& *50H 2,500
—JlH = 1,000,000& = 1CH 1,000
St WRst 2 22 6,215,038 17,513,820 N 11,298,782
= 692,749
T 250,000
= 5,272,289
ot& 2t el 1,747,914 2,418,586 N670,672
= 68,000
< 250,000
= 1,429,914
2Ol KX B4 (4012 2) 68,000 42,000 26,000
= 68,000
401 Al HIL 201 68,000 42,000 26,000
= 68,000
01 Al &bl 68,000 42,000 26,000
O=ZHIEXAY 68,000
— 3ot 7 X2 =AY 68,000, 0003 *14] 68,000
= 68,000
oF & XH ol ol & AL S 1,179,914 2,176,586 N996,672
101 @121l 167,314 162,618 4,696
04 JI2ZtH 22 XNEE 167,314 162,618 4,696
Oodta 2|2l ALS 167,314
—-J|I=23 78,4003 x9H x 168 118,541
—F5Y 78,4003 *9H x32 22,580
— X< 78,400& x9Y 8 5,645
— 28z 146,766,400 *14% 20,548




2N

Fags|
M 9 HRE 2 3=
cel: stEael (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 6,300 6,768 A 468
01 M= 4l 6,300 6,768 A 468
Odctdatelel QRAS SFU
1,400& %5004 *9CH 6,300
401 Al HI K 201 I 1,006,300 2,007,200 A 1,000,900
01 A& Hl 1,000,000 2,000,000 A 1,000,000
Oo+& THoH Ol 2 A 1,000,000
— MZHl L=2.0km, &4 L=13km, "I & =S M A
2,500= 1,000,000, 000& * 14! 1,000,000
03 A& =2 THHI 6,300 7,200 A 900
OAIZ 2l 6,300,000 6,300
UBHSIE ALY (X 2) 500,000 0 500,000
< 250,000
s 250,000
401 AIEHIZL 2 CHEI 500,000 0 500,000
< 250,000
[ia 250,000
01 A& Hl 496,400 0 496,400
OZHEx=AL 496,400
— UuStE A 22l At (H 2 X 2)
496,400,000 =14l 496,400
< 250,000
i 246,400
03 Al S THHI 3,600 0 3,600
OEHIEXAY 3,600
— UuiotE A 22l AFE (S 2 X 7)
500,000,000& *0.72% 3,600
L5t FHAY 642,749 8,815,490 A8, 172,741
= 624,749
s 18,000
NLotE ZHIAL (MENSIE L) (KHH) 18,000 100,900 A 82,900
201 et 18,000 0 18,000
02 2324l 18,000 0 18,000
OUAFTMESIE LAY 18,000
— Sy MEGHE T2 HMIZ
1,500,000& 1204 & 18,000
7.28~8.11 32 HaisA(XotA) 624,749 0 624,749
= 624,749
401 AIEHI L 20 624,749 0 624,749
= 624,749
01 A& tI 624,749 0 624,749
OZ3HIE= AL 624,749
— Xgot& Mol =AY 624,749




AN ALNSH
X ZH - Of
L= B 2l

=3
Sl XNYotd FHIA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AUEAE(EEE) 80,138,000 » 14! 80,138
= 80,138
- (2ERR) 74,415,000& » 14! 74,415
= 74,415
- SME(=SY) 52,264,000 » 14! 52,264
= 52,264
-HEE (=) 38,426,000 » 14! 38,426
= 38,426
- RYUH(+sH) 42,651,000 14 42,651
= 42,651
- TEFE(MAH) 35,279,000& » 14 35,279
= 35,279
-AE(BEEXR) 68,854,000 » 14! 68,854
= 68,854
- A (FEXF) 141,299,000& 14 141,299
= 141,299
-SAHE(E=Y) 91,423,000 » 14! 91,423
= 91,423
SZ 2el 3,824,375 6,279,744 A 2,455,369
20tE KA ZelAte 1,824,375 1,963,750 A 139,375
101 1244 Hl 17,895 16,766 1,129
04 JIZHHZ22XRHEE S 17,895 16,766 1,129
OCIEBEYUEX B4YER & SIEX 17,895
—Jl=s 69,7603 x1H 180 12,557
Fe=¢ 69,7603 x1H »362 2,512
—QX=g 69,7603 x1H 9L 628
—E8= 15,697,000& *14% 2,198
401 Al HIZ 201 Y] 1,806,480 1,946,984 A 140,504
01 A& HI 1,800,000 1,940,000 A 140,000
OActd |X2elA 1,800,000
— A0t& X 22l AF (16700 2 /185km)
1,800,000, 000 14! 1,800,000
03 Al S THHI 6,480 6,984 A504
OAIZ SR HHI 1,800,000,000& *0.36% 6,480
ACHEEH (M) (ME) 2,000,000 4,315,994 A2,315,994
401 Al HI R 201 I 2,000,000 4,311,871 A2,311,871
01 A& HI 2,000,000 4,300,260 A 2,300,260
OTZEXEAY 2,000,000
— AGHE THOH Ol A (&t AT 2l 200 4 ) (
HE) 2,000,000, 000& 2,000,000
sgolmetRx 21,185,398 15,390,174 5,795,224
= 2,377,160
as 3,219,000
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el
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,124,700
s 13,464,538
sZE0SHY & sgdsd =35 10,466,000 9,655,000 811,000
s 3,219,000
< 382,000
s 6,865,000
dEOEXH 30,000 50,000 220,000
TAEZHIZXEUY 30,000 50,000 220,000
01 A& HI 30,000 50,000 A20,000
OAN&EE |X2el 15,000,000 *2J4 A& 30,000
JIAHSBEZ ST E 300,000 300,000 0
401 Al HIZ 2018 300,000 300,000 0
01 A& HI 300,000 300,000 0
OJIAIEZ RANE+
50,000,000& =64 X = 300,000
JIHs d&z S (MEH 2,600,000 1,400,000 1,200,000
401 Al HIZ 201 I 2,600,000 1,400,000 1,200,000
01 A& HI 2,583,365 1,391,234 1,192,131
OTZEHEAY 695,617
—SAXNF JASEEZ 2L E(3.5km) (M &)
490,000,000 » 14! 490,000
— S &I JIHSE 2= &L E(3.5km) (X2
Bl) 205,617,000 » 14! 205,617
OaEMdEAS 695,617
—YAHX? JIHSE =2 &L E(3.0km) (& &)
490,000,000 =14 490,000
—YAX T JIH Y =2 =LA (3. 0km) (K &
Hl) 205,617,000& =14 205,617
OTZEHEAY 794,991
— 28T INASEEZ S I H(3.4km) (M 2H)
560,000,000 » 14! 560,000
— 48T A EEZ S (3. 4km) (X
Bl) 234,991,000 » 14! 234,991
OaEdE A 397,140
— S JIAHSEEH2 &L E(1.0km) (& &)
280,000,000 =14 280,000
— S JIAHSEEZ2 &L E(1.0km) (X2
bl) 117,140,000 14 117,140
03 Al 2 THHI 16,635 8,766 7,869
OZEXEAY 4,383
—SEXT IS B2 & E(3.5km) (K&
gl) 695,617,000& *0.63% 4,383
OadEdE&AY 4,383
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X ZH -
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dush
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— EHX T JIHSH =2 2L E(3.0km) (X 2
tl) 695,617,000& *0.63% 4,383
OZSHEAY 5,009
— NI T JIAEE A2 T F (3. 4km) (X2
Bl) 794,991,000& *0.63% 5,009
OnSEdeAY 2,860
—LEX T JIAHSZ =22 LA (1.0km) (X2
Hl) 397,140,000& *0.72% 2,860
SO EIN L ALY 200,000 320,000 A 120,000
401 AIEHIZ 28I 200,000 320,000 A 120,000
01 Al Hl 200,000 320,000 120,000
ON&EE RIE4e 200,000,000} 200,000
SESTHNELsH(LBNR)(E=H) 1,825,000 2,007,000 A 182,000
s 1,278,000
S 164,000
s 383,000
202 O4dl 500 1,000 A 500
01 = LH 4 1l 500 1,000 A 500
OS2 AHAY 500
— A =T 100,000& 5 500
403 MHXSHHSA=0l& 1,824,500 2,006,000 A 181,500
s 1,278,000
< 164,000
s 382,500
02 S 2S0CHet A = H 2 & Ar 1,824,500 2,006,000 A 181,500
O@SsIAHAAMG 1,824,500
—HIUSESHNELHIMNY (B2 sUHES
Ab) 1,824,500, 000& 1,824,500
s 1,278,000
< 164,000
s 382,500
I=MENESH (0 H) 1,203,000 1,516,000 A 313,000
as 842,000
< 108,000
e 253,000
202 oddl 500 1,000 A 500
01 = LH o4 1l 500 1,000 A 500
OZS2AHAE 500
— A =T 100, 000& x5 500
403 XM SA=0l& 1,202,500 1,515,000 A 312,500
s 842,000
< 108,000
s 252,500
02 S 2SO HEAEE 2 E AL 1,202,500 1,515,000 A 312,500




AN A4S0
HH: sooTonE
Sl SENSHY L SAMNY =B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2 AHAMY 1,202,500
— I ZMENESH (B2 HES AL
1,202,500,000& 1,202,500
s 842,000
< 108,000
s 252,500
I=MENEEH(+sH) 185,000 0 185,000
ras 129,000
< 17,000
e 39,000
401 Al HIZ 201 8] 185,000 0 185,000
s 129,000
< 17,000
e 39,000
01 A& HI 183,677 0 183,677
O E3 A AY 183,677
—>SHIZMENE=H 183,677,000& 183,677
s 129,000
< 17,000
[ia 37,677
03 Al =2 THHI 1,323 0 1,323
OZS2AHAE 1,323
—>SHIZMENESY
183,677,000& *0.72% 1,323
sEUSSA(Z0ICHAO =) (X &) 942,000 758,000 184,000
401 AIEHI L 20 942,000 758,000 184,000
01 A& Bl 936,102 753,254 182,848
OaENMEAMNS 936,102
— SO0 = sEUSSAG(HE)
659,400,000 659,400
— SO0 = sELUSSAE (X2)
276,702,000 276,702
03 A& S THHI 5,898 4,746 1,152
OadEdEAH 5,898
— S0 = sEUSEIAMNY
936, 102,000 *0.63% 5,898
HAXNAMEMG (SHE) (2L 864,000 649,000 215,000
s 658,000
< 62,000
s 144,000
401 AIEHI L 2CHYI 729,000 649,000 80,000
s 555,400
< 52,550
[ia 121,050
01 A& HI 724,436 644,936 79,500
OZS2AHAE 724,436




EX: A4 ns
Hu: soolmens
Celr SENSHY U SAMMY 2B CER-ED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 %@ﬁ HRE2
— EAOIS 724,436,000 724,436
Fag 555,400
= 52,550
= 116,486
03 AlEE2HH]| 4,564 4,064 500
OZE3HAMNL 4,564
— EAOIS 724,436,000 *0.63% 4,564
402 SI2FXHE0| & 135,000 0 135,000
g 102,600
& 9,450
= 22,950
02 CIZEXIE A E X (0| &M THS) 135,000 0 135,000
OZESAHAMNY 135,000
— EAMOIS(XIEHE) 9,000,000& 155 135,000
Fag 102,600
= 9,450
= 22,950
FHATAMEAL (SHE)(HZ) 417,000 0 417,000
Fag 312,000
& 31,000
= 74,000
202 o4l 500 0 500
01 2Ll 500 0 500
OZES AHAMNY 500
— A =X 100, 000& 5 500
403 XX SHHS K20 & 416,500 0 416,500
Fag 312,000
o=t 31,000
= 73,500
02 BI2SHUSA=2EAEAIS Y 416,500 0 416,500
OZEZIHANLY 416,500
— ARSI EH AN S MO AN (B2 S0
ZEZ2AH) 416,500,000& 416,500
Fag 312,000
o= 31,000
= 73,500
OISSSII(ASIHE)(HANS ) (M &) 250,000 100,000 150,000
202 044 500 0 500
01 2L Y| 500 0 500
OdENEAY 500
— MY =X 100, 000& 5 500
403 XX SHHS K20 & 249,500 100,000 149,500
02 2I2SO e AE2EAEAS Y 249,500 100,000 149,500
OdENMEAY 249,500




SM: ALDED
MM sQolmpRE
Gl SENSHY L SUMMA HE (EH9:®e)
= - - HE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— XS (HA)(MEH) 175,000,000 175,000
— NS (WA ) (XIEyl) 74,500,000 74,500
OS2 oSII(AS8HY) (=02 ) (& & 250,000 100,000 150,000
401 Al HI & 208 250,000 100,000 150,000
01 Al &t 248,212 100,000 148,212
OaENMEAMS 248,212
— XML (sE)(HE) 175,000, 000& 175,000
— MY (3E)(Xel) 73,212,000& 73,212
03 AIE 2 0HHI 1,788 0 1,788
OBSHEAY 1,788
— KB (HE) (R EH)
248,212,000& *0.72% 1,788
OIS 2SI (A8ME)(2UoS) (&8 250,000 100,000 150,000
401 Al Bl 28I 250,000 100,000 150,000
01 A& HI 248,212 100,000 148,212
OZEMEAY 248,212
—XSHL(Z2U)(XE) 175,000, 000& 175,000
— XSOHL (=) (Xel) 73,212,000& 73,212
03 Al 2 0H I 1,788 0 1,788
OBSHEAY 1,788
— XFEOHE (2T (RIH)
248,212,000& *0.72% 1,788
OtE2orSJI(AsHg)(2302) (&8 250,000 100,000 150,000
401 AlIEHIZ 20 4] 250,000 100,000 150,000
01 Al &bl 248,212 100,000 148,212
OaSH™EAd 248,212
—AEHe(22)(de) 175,000,000 175,000
— s (23)(Xel) 73,212,000& 73,212
03 AIE 2 0H bl 1,788 0 1,788
OZEMEAY 1,788
— TEMHL(22) (R L)
248,212,000 *0.72% 1,788
OIS oSI(BEMNHL) (3 S0tS) (& &) 400,000 100,000 300,000
202 04 HI 500 0 500
01 = LH 4 B 500 0 500
OBSHSAY 500
— AP =Xl (XIHEl) 100,000& 5! 500
403 XAtXIHM S K201 ™ 399,500 100,000 299,500
02 SO 2SOHeH 2R 2 E A 399,500 100,000 299,500
OREMEAY 399,500




AN A4S0
M seelTons
€ sE0SHe &€ sgdayd &3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—IENL(as)(HS) 280,000, 000& 280,000
—ZEMNL (s s)(RLHl) 119,500, 000& 119,500
OFSetSII(MHE8HE) (SS0S)(HE) 100,000 0 100,000
401 AIEHIZL 2CHEI 100,000 0 100,000
1T AIZHI 100,000 0 100,000
OZEHEAY 100,000
—AEHLE(FS)(HE) 70,000,000& 70,000
—ABNL(FS)(Xgdl) 30,000,000& 30,000
OFSSHSII(XMHSML) (Re0IS)(HE) 100,000 0 100,000
403 UHXSHHSA=0l& 100,000 0 100,000
02 S 2S0CHet A = H 2 & Ar 100,000 0 100,000
OZEXEAY 100,000
— XS (Re) () 70,000,000& 70,000
— AL () (Xgl) 30,000, 000& 30,000
OFSSSII(MHEML)(=E=0IS)(HE) 100,000 0 100,000
401 Al HIZ 201 Y] 100,000 0 100,000
01 A& HI 100,000 0 100,000
OZEHEAY 100,000
—ABHL(=E)(HE) 70,000,000& 70,000
—AsHY(SE)(Xl) 30,000, 000& 30,000
OFSCSII(RMSHL) (SRS (A 100,000 0 100,000
401 Al HIZ 2018 100,000 0 100,000
01 A& HI 100,000 0 100,000
OaEdE A 100,000
—AsHe(2) (M) 70,000,000& 70,000
— s (=g)(xgdl) 30,000,000& 30,000
OISSSI(RHEHE)(SEOS)(HE) 100,000 0 100,000
401 AIEHI L 201 100,000 0 100,000
01 A& HI 100,000 0 100,000
OaEMdEAS 100,000
—AsHe(sE)(de) 70,000,000& 70,000
— XML (SE)(RLLl) 30,000,000& 30,000
LA 676,000 200,000 476,000
= 526,000
< 45,000
s 105,000
EIRH=FHEIAY 150,000 200,000 A 50,000
< 45,000
[ia 105,000
401 AIEHI L 20 150,000 200,000 A 50,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 45,000
s 105,000
01 A& HI 150,000 200,000 250,000
OEHIEXAY 150,000
—FYIN =SYAIANY
L5,000m*30,000& 150,000
< 45,000
s 105,000
BSOS AL (RIZ2 X F) 526,000 0 526,000
= 526,000
403 XIS E X201 E 526,000 0 526,000
= 526,000
02 SO 2SO HEHAHE X 2| &AL H 526,000 0 526,000
O=HIEXZ AL 526,000
— B =&AL (RIS X ) 526,000,000& 526,000
= 526,000
elAIE2EALS 8,518,398 5,285,174 3,233,224
= 1,851,160
< 325,200
s 6,342,038
=CAIES2E=AtSE 1,481,654 1,481,654 0
201 LBt 7,000 7,000 0
02 =224l 7,000 7,000 0
O=clAl&2 &IIe= 500,000 =144 2 7,000
401 AIEHI L 2 CHYI 1,174,654 1,174,654 0
01 A& Bl 1,170,440 1,170,440 0
=ClAIEE HE=AZ 1,170,440
— A2 FEAMEE HES
31,714,275& *350H £ 1,110,000
- =98 B Y YLE 22
10,000,000 *4H 2~ 40,000
—=gE 23 ZIA 140,000 * 14604 2 20,440
03 Al S THHI 4,214 4,214 0
O=clAIE&2 HE=AS AIE =20
1,170,440,000& *0.36% 4,214
403 XIS S X201 & 300,000 300,000 0
02 SO 2SUHHEHAHE X 2 E AL 300,000 300,000 0
OSt2sHESMRY 2ANE2 HEX(1HA
) 50,000,000 *6H 2 300,000
2l AIESIHE AL (=) 233,000 300,000 A 67,000
< 70,000
e 163,000
401 Al HIZ 201 8] 233,000 300,000 A 67,000
< 70,000
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o 163,000
01 A& HI 231,334 297,855 A 66,521
OZHIEx A 231,334
— StS X F &t =2 F Hl AL (0.85km)
231,334,000 » 14! 231,334
< 70,000
[ia 161,334
03 Al 2 0HHI 1,666 2,145 A479
THIEXZ A 1,666
— St EXN 2 E6 == ZHIAS (0.85km)
231,334,000& *0.72% 1,666
M==X HE = 768,584 689, 520 79,064
401 Al HIZ 201 I 768,584 689, 520 79,064
01 A& HI 764,520 689, 520 75,000
OM=X HE= 645,000
—Hd==Xl E= 41,500,000 *100H & 415,000
—Md=X &4 22,500,000 «4 4 & 90,000
—M=X(=2)2clgMna8d
2,500,000 *204 2~ 50,000
— M HEA 30,000,000 =34 2~ 90,000
OM=Xl MY =Hil2I
120, 0003 *3H «166H A +23 119,520
03 Al 2 THHI 4,064 0 4,064
OM=XIMHESALY ALY
645,000,000& *0.63% 4,064
THOH IS XS B (2X) (MK SIS K+ X) 128,000 1,914,000 786,000
= 564,000
< 169,200
[ia 394,800
401 AIEHI L 201 , 128,000 1,914,000 A786,000
= 564,000
= 169,200
= 394,800
1T AIZHI , 123,953 1,907,135 AT783,182
OZ3HIEx= AL , 123,953
—EFHMHAS M =X EHI ALY
280,000,000 =14l 280,000
= 140,000
= 42,000
e 98,000
— 2RI E M =X EHHI ALY
288,000,000 =14 288,000
= 144,000
< 43,200
i 100,800




2N ALDEY
HM: sHolmgips
S 22l ALS2HESAY (e @)
SKE]
S E B (3H) - MBAY - BES O Ak o8 %@ﬁ HD=2
— HLTHH I E M2 X =AY
280,000,000 * 14! 280,000
=2 140,000
[ 42,000
2 98,000
—E2MHAE M=K FHH ALY
275,953, 000% * 14! 275,953
=2 140,000
[ 42,000
2 93,953
03 Al& 2 HH 4,047 6,865 A2,818
O=HIEZAIY 4,047
— THOH QI & M 2= X ZHIAF (400 A)
1,123,953, 0002 *0. 36% 4,047
TH o 218! M 2= K| oh & &l et 40,000 0 40,000
=2 20,000
2 20,000
401 AlEHI 220 40,000 0 40,000
=2 20,000
2 20,000
01 Al&HI 40,000 0 40,000
O2HIBZAY 40,000
— THoH SIS M=Kl ot A Xl e
20,000,0002 «274 & 40,000
=2 20,000
=2 20,000
S EH (ARSI IS ) (M &) 100,000 0 100,000
[=4 86,000
2 14,000
401 Al2HI 2 20HY] 100,000 0 100,000
[= 86,000
2 14,000
01 Al&HI 100,000 0 100,000
OREESAMY 100,000
— 0N ARZHHSIHL ALY (& &)
80,000,000 80,000
[= 80,000
— Ol ™®X T AFDHHZO0 & AL (X84 )
20,000,000 20,000
[ 6,000
2 14,000
AR EXWLAS(BX)(HE) 3,500,000 700,000 2,800,000
401 AlEHI 220 3,500,000 700,000 2,800,000
01 Al&HI 3,478,085 695,617 2,782,468
OREEAY 3,478,085
— AR ARDELILAIY (HE)
490,000,000 490,000




AN A4S0
M solompas
&2 =2lAESHEFAS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— WA AFLESIHL A (XIEE])
205,617,000 205,617
— YN ARISEFMNLAY (HE)
420,000,000 420,000
— YT ARIEFHL A (XY
176,243,000& 176,243
— &N ARSEFMNLAY (HE)
700,000,000& 700,000
—HEXT ARIEFIHL AL (XY
293,739,000& 293,739
—AHEXN? ARSESMLAY (HE)
420,000,000& 420,000
—HEBI 7 ARSI AL (XEH])
176,243,000& 176,243
— AMX TR ARLSEFNL ALY (HE)
420,000,000 420,000
— PR T ARI SN AL (XY
176,243,000& 176,243
03 Al 2 THHI 21,915 4,383 17,532
OZSHEAY 21,915
— WA ARZEFIHL AL (X EH])
695,617,000& *0.63% 4,383
— 28X ARZEFML AL (X EH])
596,243,000& *0.63% 3,757
— X7 ARI2EFML AL (XY
993,739,000& *0.63% 6,261
—HEBI? ARZ2EHL AL (XEH])
596,243,000& *0.63% 3,757
— A7 ARZEFINL AL (X EHI)
596,243,000& *0.63% 3,757
7.28~8.11 22 HLai=ER(=clAl&) 1,267,160 0 1,267,160
= 1,267,160
401 Al HIZ 2018 1,267,160 0 1,267,160
= 1,267,160
01 A& HI 1,267,160 0 1,267,160
O=HIEXAY 1,267,160
—HEE 55,449,000 » 14! 55,449
= 55,449
—SEM=X 110,217,000& 14 110,217
= 110,217
—SE= 119,308, 000& 14 119,308
= 119,308
-2 E=Z 53,192,000 » 14 53,192
= 53,192
—s3M=X 95,129,000& =14 95,129
= 95,129
—SAE 238,109,000 » 14! 238,109
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AN A4S0
g Hsuses
Sl 24H I X CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 4,263 0 4,263
OZHIEx= AL 4,263
—&dANHA BH Y XA 4,263,000 4,263
S 1,368
s 2,895
09 2HAHAEXS 806,688 660,210 146,478
OZHIEx= AL 806,688
—sHEHA BN 796,688,000 x 14! 796,688
= 398,344
s 398,344
—S0lEHA DSIHE +42 X8
250,000,000 *4% 10,000
< 5,000
s 5,000
HAL-d SHHA SAEH 791,481 791,481 0
< 98,264
s 693,217
307 gl2tol & 791,481 791,481 0
< 98,264
s 693,217
09 2HAHEXS 791,481 791,481 0
OEHIEXZAY 791,481
—HIEd 2ABAZ XS
791,481,000 » 14! 791,481
< 98,264
[ia 693,217
HAQH 822 &X 79,000 74,000 5,000
201 -4l 72,000 54,000 18,000
01 At 22l 72,000 54,000 18,000
OmAoY gyz 23 224
200,000& =100+ 12& 24,000
O&AHHA S22 AR21] S2H|
200,000& =200 x12& 48,000
401 A& HIZ 201 I 7,000 20,000 A 13,000
01 A& HI 7,000 20,000 A 13,000
OdANHA 2220 222 M
1,000, 000& »7CH 7,000
ERAISEH MB X 254,873 383,405 A 128,532
201 ¢er24l 225,600 264,000 /38,400
01 At 22l 225,600 264,000 A 38,400
OEHAl 2122 10| 200,000 »94CH«12& 225,600
401 Al HIZ 2018 28,200 63,000 A 34,800
01 A& HI 28,200 63,000 A 34,800




AN A4S0
g Hsuses
Sl 24H I X CERED
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEAl 22210 HEH(HAIXL)
300,000& »94CH 28,200
403 UtXSHHSA=0l& 1,073 1,300 A 227
02 S 2S0He A=A 2 & Ar 1,073 1,300 A 227
OHAl2EZIZ 2elAAE 298l 1,073,000& 1,073
B DSSHEM(ZHESX) 53,716 52,915 801
< 16,115
e 37,601
101 @124 dl 53,716 52,915 801
= 16,115
s 37,601
04 D12t Z2XRESES 53,716 52,915 801
OZHIExAY 53,716
—YXd DSEITA
69,7603 x70H +5.52 +23] 53,716
< 16,115
[ia 37,601
BAIZX NE(2HEX) 192,000 288,000 296,000
= 15,600
i 176,400
301 LeEAF 192,000 288,000 296,000
= 15,600
s 176,400
12 J|EtE& = 192,000 288,000 296,000
O=HIEXZ ALY 192,000
— A EZ ALY 48,000,000 *4CH 192,000
= 15,600
s 176,400
BAIZEH MEXJ(ZHEX) 6,000 6,000 0
< 3,000
[ 3,000
307 21201 A 6,000 6,000 0
< 3,000
i 3,000
09 2+=HAHEBEXS 6,000 6,000 0
OZHIEXZAY 6,000
— AWIIEZH ==2 XA 6,000,000& 6,000
< 3,000
[ia 3,000
HALH HE XA (KR 783,088 614,800 168,288
101 @124 dl 210,088 0 210,088
04 DIt Z2XREES 210,088 0 210,088
OsHEHA Sotk &0 29 210,088
—Jlas 69,7603 x7H 252 123,057




AN A4S0
g Hsuses
Sl 24H I X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
¥ Py 69,7602 73 512 24,905
— QX 69,7603 x7H x 12 5,860
—522fE 103,080 7«40 28,863
—EEZ(4UEER) 182,685,000& *15% 27,403
201 Let24dH] 3,000 3,000 0
01 At 22/l 3,000 3,000 0
oAz A 22 S 3,000,000 =14 3,000
207 A O] 32,000 40,000 A 8,000
01 289 32,000 40,000 A8,000
OsHEHA 226 & dded XA
HELd ZE 29 16,000, 000& 14! 16,000
OSHEHA 28 2K 24 89
16,000, 000& 14! 16,000
307 glz2tol & 538,000 501,800 36,200
09 2HAHEXS 538,000 471,000 67,000
OsUHEHA HURIH ABLHSZ
538,000,000 =14l 538,000
SEEUSEEAY 229,600 181,600 48,000
s 93,000
= 47,100
s 89,500
Hzws A2AXH =X 3,600 3,600 0
201 Let249] 3,600 3,600 0
01 At 22l 3,600 3,600 0
OEctE dSHA 2SAAE S 2l
300,000& =122 3,600
HswsE A22AXY FLUXHA(=HI) 216,000 178,000 38,000
s 93,000
< 46,500
s 76,500
307 21201 A 216,000 178,000 38,000
s 93,000
< 46,500
[ia 76,500
02 It S AHE L 216,000 178,000 38,000
OZE3 A A Y 216,000
—ESCotE #HISEA 2 216,000,000 14 216,000
s 93,000
< 46,500
s 76,500
DE2ENL 2HHGE &gty XA 10,000 0 10,000
< 600
[ia 9,400
301 LEEAF 10,000 0 10,000




AN A4S0
M HsnsS2st
o9 SEEDNE2YAY (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 600
s 9,400
12 JIEtEA S 10,000 0 10,000
OEHIEXAY 10,000
~DESHEX SHMGE Y A
200,000& x50H 10,000
< 600
s 9,400
nEHYALES 2,678,066 3,849,497 21,171,431
WESUHTAILEE 2tel 681,662 548,451 133,211
201 Let24E] 139,870 107,780 32,090
02 2324l 139,870 107,780 32,090
Oz22gHl 139,870
—EUEFT 9 VS B2
22,000,000& =14 22,000
—WSHSI S HIANEFE =&
75,000& 2024 15,150
~SONECEAY HIUA +48
1,800,000& =124 21,600
—WESHESsS I3 30,0003 *2021+12& 72,720
—WSUHEAEE SRS 700,000& 123 8,400
401 AIEHI L 20 541,792 440,671 101,121
01 A& Bl 538,400 437,520 100,880
QuUSEoE AMEs(AIE S)8X L FHl
500,000& = 1004 50,000
ORsSoHE AlE8S(Ret=tMet) X
72,500,000 *20H A~ 145,000
QUSHSS(EES) ud ¢ A4
15,000,000 *40H A 60,000
OB dss &4 10,000,000 =104 2 10,000
OunsE=uH 20,000,000 *20H 2 40,000
OulRaAst=d ASHOHI A
6,800,000 *20J4 & 136,000
OS+E=5E5030 A€ & HI 20,000,000& =14 20,000
OE 2t EX & FH| 300, 000& = 1004 30,000
QuUEMSI FANEX(HSH)
25,0003 =158 x12& 47,400
03 A& =2 THHI 3,392 3,151 241
OAIZ 2 HHI 3,392
—WEANTAIEES XA 3,392,000& 3,392
HAS2ZE 4X 2el 196,404 287,556 A 91,152
401 Al HIZ 201 Y] 196,404 287,556 A91,152
01 A& HI 195,000 285,500 A 90,500




AN ALNSH
3N HsusSes
Hel: NSEAANLEHHS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OoHAs2d £X 2 wi
12,000,000& *109H £ 120,000
OHASZZE A o B 20,000
~HASYN M Y Ba
400, 000& *5004 & 20,000
OHAZZE RNB4(HSH)
20,000,000& =14 20,000
OsZ2&d 282X &1 3,500,000 *100H 2 35,000
03 Al 2 THHI 1,404 2,056 A 652
OA&E =20l 1,404
—HASZE EXAE 195,000,000 *0.72% 1,404
StEFXE 2454 & ALY 1,800,000 0 1,800,000
401 AIEHI L 20HYI 1,800,000 0 1,800,000
01 A& Hl 1,800,000 0 1,800,000
OBSFEANE 8% L Y2 2T FUIZA
1,800,000, 000& * 14 1,800,000
EYHF EXNHS nSIEN =E 557,370 768,018 A 210,648
NEsEMN 22 43,350 71,286 A 27,936
201 et 38,350 47,286 A 8,936
01 At 22l 38,350 41,130 A2,780
O=SY=ZX g2 &= MH
50,0003 *5000 2 *23| 5,000
O=gH (FEXHs nsdel)
8,000& x5 902! 3,600
OFiR=s == MA M 150& %20, 0000H 3,000
OAZ Ho9IRE L B S BHLY
70,000& »10& x52] 3,500
OFZX UEg 8 23 LXNAM L AEAH M
= 300& *1,00004+102] 3,000
OFFX ¢ 88 7Y (53)
3,000,000& » 14 3,000
Ounsotd el 222 M
60,0003 *10JH 2~ 83| 4,800
OO0IEXS A Hs e M 16,500& 5004 8,250
OSEAMNEZIZE d2XALE X224
350,000& »12& 4,200
307 glz2+ol & 5,000 5,000 0
02 It M AHEE 5,000 5,000 0
OnssAzstH XA 5,000,000& 14 5,000
SHF FUES 514,020 696,732 A182,712
101 14l 76,413 503,732 AN427,319
4 D12t ZE2EXNEES 76,413 472,272 A 395,859
O=s8Y=.8x = 76,413




FAM: A4S
M HsnsS2st
S9l: BYFE INEE NSEN =Y SEREED
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
—Jles 69,7603 x3H 200 41,856
- T4 69,7603 *3H 302 6,279
—Qlx=g 69,7603 x3H 102! 2,093
—52Z2RE 69,7603 *1.581 x3H x50 15,696
—-BE=40 BE8) 65,924,000 x15% 9,889
— o=l 200,000& »3H 600
202 44l 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O=2Y =FX &= ol 20,0003 »4H x50 4,000
307 glz2tol & 323,607 0 323,607
05 RIZHRIE 3 323,607 0 323,607
OZY=MFUY REF 29 A<
323,606,790 x 14! 323,607
401 Al HI K 201 I 110,000 189,000 AT79,000
01 A& HI 110,000 189,000 AT79,000
OSY I S=3tet A& (1)
30,000,000 =14 2 30,000
OSEFIX 7Y LHEAN S ANEMHA 80,000
— 3= KX BAE 100,000& *50 4 5,000
—F=XAHE 50,000& *400H 20,000
—Aasd MM CHITA 350,000 x1009H A& 35,000
—FEXN Y HEE H &M
20,000,000& =14 20,000
Sgus+X 272,000 368,060 296,060
< 1,000
[ia 271,000
g0E 2 XA (&Hl) 2,000 2,000 0
< 1,000
s 1,000
201 et 2,000 2,000 0
< 1,000
[ia 1,000
01 At 22l 2,000 2,000 0
OEHIEXZAY 2,000
—SEUEsH(2YA) R2 &2 S8#s X
& 2,000,000& =14 2,000
< 1,000
s 1,000
Sgus+==HIN& 270,000 366,060 A 96,060
307 gl2tol & 270,000 270,000 0
05 BIZHRI & 3 270,000 270,000 0
OusAIE st SHA 2 /=
45,000,000& +6CH 270,000




EX: A4 ns
MM Hzsns=23
e zsnsEsyd (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
H=zneEsd 60,600 365,600 A 305,000
AMAHAHIOIE2HE XA 45,600 365,600 A 320,000
307 212t0| ™ 45,600 45,600 0]
02 QIZHZAAIE E X 45,600 45,600 0
OCUJAAHAHDIY 22H XA
2,000,000 x12& 24,000
OMAMHAHOYE &9Hl N&
1,800,000 x12& 21,600
29 HHARBAIAEH(BIS) 29X 15,000 0 15,000
403 XX SRS K 20| & 15,000 0 15,000
02 2| 2S0 et 2= EAS Y 15,000 0 15,000
OZY HAZBAIAEH(BIS) 2Y
15,000,000 » 1Al 15,000
AL NEEH JBLXH 300,000 0 300,000
AL NESSHELE 300,000 0 300,000
201 LBt Y| 300,000 0 300,000
03 Al A H| 300,000 0 300,000
QS UALMAAT NEZSE 2HAIY
300,000,000 « 1Al 300,000
HESHAY (HEDNEY) 88,434 88,434 0
JlE&d| 88,434 88,434 0
Jl2 &4l 88,434 88,434 0
201 et | 49,914 49,914 0
01 AP 22| H| 49,914 49,914 0
OBNESH 1,831,000 x22H 40,282
Ol 4,400
— E2044lH| 8,000 x223H x5! 4,400
O=SAII Xt 5,232
— A=A 286,000 1L *x12& 3,432
— EWEAD]| 150,000 x1CH =12 1,800
202 044l 34,320 34,320 0
01 2L Y| 34,320 34,320 0
O2LH O bl 80,0002 222 x12& 21,120
O&2 bl 75,000& x22H x8L 13,200
203 € R F&d| 4,200 4,200 0
04 EASHEIRFEH| 4,200 4,200 0
OFRMSI YR 350,000& x12& 4,200




